
FINC3017 - Tutorials 
 
Week 1: Introduction 
 

REAL VS FINANCIAL ASSETS 

 
 

a) Financial asset created = Bank loan contract (or bank note – owned by bank)  
Financial asset is transferred = Cash – transferred to Lanni 

 
b) Financial asset (cash) is transferred to provider of software 

Real intangible asset – software (received by Lanni) 
 

c) Real intangible asset – software is transferred to Microsoft  
Financial asset created (Microsoft issues new shares to transfer to Lanni)  
 

d) Financial asset (shares) transferred – for cash 
Financial asset – cash transferred from Lanni to bank 
Financial asset destroyed – bank loan dissolves 

 

 
a) Ratio of real assets to total assets = 3/10 = 0.3 

Asset  Liabilities & Shareholders’ Equity 

Real Assets: 
- Computer equipment:           $30,000 
Financial Assets: 
- Cash on hand:                         $70,000 

- Bank loan:                          $50,000 
 

- Shareholders’ equity        $50,000 
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Stock B = 80%*32% = 25.6% 
Stock C = 80%*43% = 34.4% 
 

c) SD = 0.8*0.28 = 0.224 = 22.4% 
 

 
 

a)  
𝝈𝒄 = 𝜸𝝈𝑷 

𝝈𝒄 = 𝟎. 𝟐𝟖𝜸 < 𝟎. 𝟏𝟖 
𝜸 = 𝟎. 𝟔𝟒𝟐𝟖𝟓𝟕 = 𝟔𝟒. 𝟐𝟗% 

b)  
𝑬(𝒓𝒄) = 𝜸𝑬(𝒓𝑷) + (𝟏 − 𝜸)𝒓𝒇 

𝑬(𝒓𝒄) =
𝟎. 𝟏𝟖

𝟎. 𝟐𝟖
∗ 𝟎. 𝟏𝟖 + (𝟏 −

𝟎. 𝟏𝟖

𝟎. 𝟐𝟖
) ∗ 𝟎. 𝟎𝟖 = 𝟎. 𝟏𝟒𝟒𝟐𝟖𝟓𝟕 = 𝟏𝟒. 𝟒𝟑% 

 

 
 

a) Optimal Y: 

𝒀 ∗=
𝑬(𝒓𝑷) − 𝒓𝒇

𝑨𝝈𝑷
𝟐  

𝒀 ∗=
𝟎. 𝟏𝟖 − 𝟎. 𝟎𝟖

𝟑. 𝟓 ∗ 𝟎. 𝟐𝟖𝟐
= 𝟎. 𝟑𝟔𝟒𝟒𝟑𝟏 = 𝟑𝟔. 𝟒𝟒% 

b) Expected return: 
E(r) = 0.3644*0.18 + (1-0.3644)*0.08 = 0.1164 = 11.64% 
 
Standard Deviation: 
Sigma = 0.3644*0.28 = 0.10204 = 10.2% 
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a) Variance = Beta^2 * Market Variance (=20%) * Error Variance 

 
b) Only have systematic risk  since well-diversified portfolio.

 

 
c) SML suggests a straight line relationship between beta and expected returns  
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a) The effective beta is only 0.25  since manager only sells contracts to account for the 0.5 of beta 

 they missed out on the 0.25

 
b)  

 

 
Start by calculating the return on the portfolio from first principle  using CAPM, adding the alpha 
term and residual risk  multiplied by the value of the portfolio 
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 This is a question on APT, multifactor models 
 We have risk-free rate, beta on factor portfolio 1 and 2 (M1 and M2), and total returns on Portfolio 

A and B 
 We are missing risk premiums on M1 and M2 
 Use the APT to set up equations to find risk premium 1 and rp2: 

 
 RP1 = 8.71% 
 RP2 = 9.68%  

 

 
 Calculate z-score = [Point estimate – mean]/SD  

                               = [-0.23 – 0.0005]/0.01 
                               = -23.05 

 Week 3 Lecture, Page 19 
 99.74% = +/- 3 SD from the mean  
 68.26% = +/- 1 SD 
 95.44% = +/- 2 SD 
 In Question 6  - 23.05 SD is soooo far left that it is 0% probability  
 Thus, Black Monday makes a comment about the normality of distributions 
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